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1. BRDSAFvT

BAERDI(2FvT
T7UR4 ERs BEMR BRANER | BARFHRN | EEBH | ERMEZRE
DIAMBH A LA~ (o€ —oa—n=) | Fryhe R Osvkone|  HEIMES O 2.20% 1.100% 0.20%
LaEhBRY T EEL Y BN |LAZAT YN | BMES 1.65% 1.045% 0.10%
LaEhBAY T EELY L RB) |LAZAT YN | BMES 1.65% 1.045% 0.10%
LAEhBRY T EEL L K |LAZAT YN | BMES 1.65% 1.045% 0.10%
LAZABEEI7UR LAZATEYN RSNSUR (@] 2.20% 1.045% 0.30%
LAZAIUTyoRT7UR225 |LAZAT YL | ER#KR - 0.880% -
BRSPS T — A =T (SO |BRESv/ BRRE ER#%X 3.30% 1.650% 0.30%
ILS TN F =Ty |BHTEsrES AL E R 3.30% 1.672% 0.30%
LAZBAREYHRA—TY [LAZATEYL ER#kR - 0.880% 0.30%
LAEAJY—bA—T> LAZATEYN| EBERY—k (@] 2.20% 1.045% 0.30%
REEROSIVTVT
SHRTEE | fM2EE | SH3EE

iRl 6 6 7

FE&-TF8 4 4 3

B ERE 1 1 3

ERRIR 1 1 1
BERE 7 7 7

NKRIE 1 1 1

IRAfREE 1 1 1

GE R 2 2 2

EEMRE 2 2 2

HiK 1 1 1
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2. ENVEERS

EMNEEERS
(BFEM) | SHTEE |§F2EE |[$HEE

EfE 199 197 164
BEER 180 190 181
NEFES 0 0
3 7,018 6,898 6,902
&5t 7,398 7,283 7,247
3. REEFTEEH
BEERBEEH

(N)| SHTEE | FH2FE | FH3EE
BEEH 379 354 344
4. RI=EMERFEHEL
RIEE SRTEHH

()| SHTEE | FM2EE | fSTEE
HaRIR 237 48 99
BERER 269 288 204
HiE 493 457 202
&t 999 793 505
5 ERRESE
ERGREEN

(N)| RHTEE | [M2EE | [MEE
FPE# 55 56 66
S@MEOY—ER 56 53 58
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